[ number of missing inner layers |

[ number of missing outer layers |

1e Entries 230223 1e Entries 230223
E Mean 0.01026 E Mean 1.079
F Std Dev 0.1122 Std Dev 1.711
L P S — [k .
107 Entries 231580 107E Entries 231580
F Mean 0.012 F Mean 1.086
C 0.1188 C Std Dev 1.712
. R e N N S S DU R T -2 eeeiiteiien....
10 3 231580 10 3 231580
o 0.012 o 1.086
5 - 0.1188 3 B 1712
K SR ALl St SAl ST LLLE 10°F EETCIEE: 1
E 231580 E 231580
F 0.012 F 1.086
- 0.1188 _ 1.712
107F ] 107F o
F Entries 231580 F :+ | Entries 231580
C Mean 0.012 C . Mean 1.086
1075k . | std Dev 0.1188 105k L. std Dev 1.712
O1OE.(Z_""I""I""I"" | ....!....I..... onw_""!"" II
=] t =1 ] b= L : : :
[0 S = 24 [44+ _+_-+- . .
F ! ] e + """ A
[ : ] L : + : :
T i R Ebbd R ~ ~ ~ ~ N N N N
B : . : 0.95 . : .
0 05 115 2 25 3 35 4 45 5 0 5 10 15 20 25
—— DQV_CRE
e DOM™MKE]
{ = B SR R ey
@ s DOMT™MKF ated-DNNsqcd13
= 20 e Entries 230223
» F Mean 11.37
: 18F L Std Dev 6.842|
Nl : :
2 16 10 E Entries 231580
= - F 11.36
\ 14F C 6.848
10° E 231580
12 E 11.36
o 6.848
10 ,[ :
- 231580
10 E 11.36
F 6.848
C R
Entries 231580
10 E Mean 11.36
o Std Dev 6.848
2 N i
] I S R
o +0F o ;.wf ' SRR P S ST PR S
E : § C + ++++ : T
L L i -
e #+++¢++*++H+{+++++*++ﬁ M*#ﬂ#* +;+++4++++*-'¢- i ---+— -++ H'i ----- ++++++ T+
0.95L : : : : i - 0.958 i S
=3 -2 -1 0 1 2 3 0 5 10 15 20 25 30 35 40
track n track hits
[Nofreco track vs pT |
Entries 946105 - Entries 232080
Mean 0.6729 Mean 0.4147
Std Dev 0.6787 il Std Dev 0.3344
: I 107 AL T T i
- Entries 946105 Entries 233386
102k Mean 0.6729 Mean 0.416
E Std Dev 0.6787 5 . Std Dev 0.3399
E H | 10 : B ]
L Entries 946105 : Entries 233386
3] Mean 0.6729 : Mean 0.416
10 E Std Dev 0.6787 103k : Std Dev 0.3399
r Entries 946105 § : Entries 233386
4 Mean 0.6729 [ : Mean 0.416
1077 by e Std Dev 0.6787 1074 [ Std Dev 0.3399
3 : | 3 : : |
r Entries 946105 - Entries 233386
[ Mean 0.6729 - Mean 0.416
107 Std Dev 0.6787 (01l SSECECEECTERIETPETPEPPEPRF] FRPRR Std Dev 0.3399
0105} ' : . 0105}
= X B = L
g | I g |
o ...ulll . 1'
Lt —-—-r-r'rfTTl g N ++++
[ . . [ + .
095 i : = . 0.85— i : = .
10 1 10 10 10 10 1 10 10 10
TP P track p_



	Contents
	Page 1


